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Section : Domain Knowledge

Q.1 6-3Ja DC SRex &t & draetl, foras uder # 500 goi 814 €, Aot F A FS gu &1 sa &
IifSia giar &, @t 0.02 Wh/pole &1 Ga<hia Ueia 30 gial &1 afe &1 ulRuy &t 0.02 chs &
@t T g 3R srafre gaehed 0.002 Wh/pole &, dt & & efifaet & uRa sffaa ate@st &Y ot
HifSsgl

Ans X" 1.2420.23V

/X 2.8500V

of 3.16.2kv
X 4.8kv

Question ID : 54062615820
Status : Not Answered
Chosen Option : --

Q.2 150 Hz mgf~ areft samashia @@=y (sinusoidal waveform) &t srer erafd fara=it gt &2
Ans X" 1.0.067 Gk

o 2.0.0067 Is
7< 3.067 s
/X 4.6.7 A

Question ID : 54062615842
Status : Not Answered
Chosen Option : --




Q.3 ff9= wraegH! Ht uzdl 1 SUART R I ufdas # gereudr o+ & ufshar &t fre a0 d
ST ST 872

Ans J 1. anfkar AfST (capacitance grading)
x 2. IR&ed AT (inductance grading)
X 3. ufoRte oS (resistance grading)
x 4. Ja=-3Mmafa AfET (inter-sheath grading)

Question ID : 54062615923
Status : Not Answered
Chosen Option : --

Q4 erreme e W e T AEA e 3@ (discharge reaction) F 9ot Y

Ni(OH), + 2K—
Ans X 1. NiOH, + 2 KOH
X 2 2KOH, + 2 NiOH
¥ 3 Ni(OH), + 2 KOH
X 4 2NiOH, + 2 KOH

Question ID : 54062615811
Status : Not Answered
Chosen Option : --

Q5 e v 9wy & seTEe wF Rigy P 3R Q & 99 wEger IRy A9 H

Ans

X 250
/X 3.215Q

X 4.23520

Question ID : 54062615800
Status : Answered
Chosen Option : 4




Q.6 freft avTeT R U QR Arsfehe # aa & 7E g o shgere 82
Ans X1 am

/X 2. aredr
o 3 T
25 4. wre EE) fesaon

Question ID : 54062615840
Status : Answered
Chosen Option : 3

V7 A BT v By & gz 1

o E
A M
g X
Vi

VW
<,
=

IN

=
+

Ans X" 1 et Sl T 3 TR
o 2. Rivet &t a1 A YRR
X 3. Rt et g1oh 39 AR
75 4. Rivret et et 3 YRBRR

Question ID : 54062615826
Status : Answered
Chosen Option : 2

Q.8 e FAffa T & grardhia ara=iR (magnetic meridian) #, et & gedhra &= @1 &fast gew
0.26 G g 3R =1fer htur 60° &1 3T AT UR y<ft o1 Ferchia & o ghm?

Ans X' 10606

o 2.05%¢
75 316
X 40266

Question ID : 54062615882
Status : Answered
Chosen Option : 2




Q.9 g Wice Sit 120° & fATATIT @ thice e IUF T g, A & @ foFT UehR &1 Wice Fgarar &2
Ans J 1. 99T Wiee (Symmetrical fault)

x 2. AT wiee (Asymmetrical fault)

x 3. Tl iee (Phase fault)

x 4. 3rgfy ok fa el wiee (Frequency and speed fault)

Question ID : 54062615909
Status : Answered
Chosen Option : 4

Q.10 P yReaTarel _______ uerf o IuzivT aamdss &0 & Seil 3R §9R & J far sran 81
Ans X' 1 @R fEgq

X 2. gt

/X 3. e

f 4. <A

Question ID : 54062615825
Status : Answered
Chosen Option : 2

_

Q.11 In case of behaviour of electrical wires, in AC power, current likes to travel near the surface
of a wire. This phenomenon / characteristic is known as:

Ans x 1. voltage drop
x 2. touch potential
J 3. skin effect

x 4. humming noise

Question ID : 54062615804
Status : Answered
Chosen Option : 4

S

Q.12 o giawrRR & afd urufae deeht it we@ 3 ok fdias ssfoat & sz 30 g, af s
atedst foheAT gm?

Ans 110V
J 2. 10 7T S1f¥eR(steppediup 10 times)
x 3. 10.7ATsRH (stepped down 10 times)

P Y

Question ID : 54062615860
Status : Answered
Chosen Option : 4




Q.13 # Tl gadhrg & & Forgy qadhrg & d TR g A ugf gt 21
Ans x 1. Srgereha geref (Paramagnetic substances)
x 2. ggaifén uerf (Insulating substances)

J 3. drggachia uaref (Ferromagnetic substances)
x 4. fagga-w3fdes ueref (Electrostatic substances)

Question ID : 54062615929
Status : Answered
Chosen Option : 3

Q.14 qR gerhia ufRuy & ATeaw § Yok R | Qoh Yehich Gachia §d o STA #, ST # fohar wan ooref =
# 9 fohadh sReR glar 8?

Ans X1 g
75 2. vfdeey
/X 3. urmEa

W 4 MMF

Question ID : 54062615815
Status : Answered
Chosen Option : 1

Q.15 U1 & IFER fAgga-gahra ikt & ugat e & SIgER H19-91 U T8t 8?
Ans \f1.aa%ﬁ§azﬁuwwaﬁq&wﬂqﬂaﬁ¢r@aﬁgm%,a’rgaﬁgﬁsnwEMFﬁrﬁasﬁ%
X2.aa‘sﬁﬁqaa}ﬂaﬁq&wﬁqﬁaﬁq%mﬂmm%aﬁwﬁaﬁm@EMFﬁﬁaaﬁaT%

X 3. 519 oft Jaehia Ut ot aRuy & gRRac o T SST SI1dT &, df 399 g1l Teh 9T URd gt
g

x 4. 519 oft Gaeha weter @t uRkay # gRkad & ST Siial 8, ot guTfear (susceptibility) &
3ruTfares aRad= giar 8

Question ID : 54062615818
Status : Answered
Chosen Option : 3

= S

Q.16 *q @ fO= ucamad! A &t thor & w=u A =a<h fohar S gaRar &1
Ans X' 1. SdTRR

o 2 g

75 3.

X4.f%m0ﬁu

Question ID : 54062615844
Status : Answered
Chosen Option : 2




Q.17 v 3 @, AU & A TR A dh R & a1 i Rapear Fi &g
Ans J 1. CRI T sherk ISR 89 (Color Rendering Index)

x 2. CCP 1 gddeg I &ara (Correlated Color Pressure)

x 3. CCT a1 ggdHelg <71 a1uH (Correlated Color Temperature)

x 4. CCT a1 7utieh &1 drgH (Coefficient Color Temperature)

Question ID : 54062615945
Status : Not Answered
Chosen Option : --

Q.18 el & wRrded & §H fAggavdfae ufaae (uniform electrostatic stress) UTe @e=t &Y ufehar
ot forereh &0 & ST ST 82

Ans X" 1 3wl &l e (shredding of cables)
x 2. Shaell o1 TR (spreading of cables)
J 3. Shaetl Y AT (grading of cables)
x 4. el a1 fzeroT (shielding of cables)

Question ID : 54062615922
Status : Answered
Chosen Option: 3

Q.19 fi-thet uorreft & ama |, Stafes di= 3@rsi & s aRrait &1 faaRor aR Jee @1 &, fhe oft
foreft oft eror =T uRTeit & ATeRTeres A1 T sfsTiordT g @ ghm?

Ans  of 1 3
K20
X 3T
X 4. sFa

Question ID : 54062615837
Status : Answered
Chosen Option : 1

S

Q.20 afeIent, Arehet, ehlaTee 3R HIUR AT &7

Ans X" 1. frgga-xdfires daidf (Electrostatic substances)
x 2. g diggachrauery (Soft ferromagnetic substances)
J 3. B3R egsichr uaref (Hard ferromagnetic substances)

x 4, Iggshia yerd (Paramagnetic substances)

Question ID : 54062615930
Status : Answered
Chosen Option : 4




Q.21 yedTere o1 (AC) afRuy & STt p(t), v(t) 3R i(t) shaem: arcerfores erfch, divest SR URT & A €,

Ans

feredt oft &1t (instant) 1<k i fareh gRT 2rfar sTem?

V(©)
X1 P(H)= )
v 2 P(t) = V(D) X I()
X3 PO =V +11D

X4 PO=VH-1

Question ID : 54062615879
Status : Answered
Chosen Option: 2

Q.22 TR & GeT IRTY TRIET0T T I T g1 82
75 1. RSt et Bk gRT I SifAchas SSAT Y F1d el

Ans

75 2. e Tt diedet TR Y T HEAT
75 3. aifvehem Tl dhie TR R T AT
o 4. cawnR & F-aite e o e & 7T R

Question ID : 54062615864
Status : Answered
Chosen Option : 2

QB R v aRwy 1 HeETa W Rigat A 3R B F O wAged TRy A H

Ans

A 9 15

20 10

30 . 40

/X 1.5250
W 22250
/X 3.9.586Q
< 4400

Question ID : 54062615799
Status : Answered
Chosen Option : 2




Ans X" 1. q-gmed (tensile strength)

75 2w

J 3. daR ™ (puncture strength)

x 4. gTdeT IRIEdieh (relative permittivity)

Question ID : 54062615894
Status : Answered
Chosen Option : 1

Q.25 The overhead line conductors are supported on the poles. These line conductors must be
properly from supports.

Ans J 1. insulated

x 2. earthed

x 3. separated
x 4. grounded

Question ID : 54062615891
Status : Answered
Chosen Option : 3

_
Q.26 Qe @R ag AU g, ol A gm_____ fwarst uReen iR & @war & siiz R faror
Qeh T o9 o e Afta e i 75 & gaar fhwor # uRafda swar 81

Ans X" 1 ifeTm smtergs (sodium iodide)
75 2. 41 & geTge (metal halide)
J 3. URTarT (mercury vapour)

x 4. ThiEaw smaterge (scandium iodide)

Question ID : 54062615942
Status : Answered
Chosen Option: 3

Q.27 YfArTa Feredl & Heid F foha ateest & g smaRe dhael a1 Sui forar sirar 8?2
Ans X1 1TkVas®

W 2. 22 kv 2 6buy T

/X 3. 66kV i

/< 466 kVAHH

Question ID : 54062615919
Status : Answered
Chosen Option : 4




Q.28 Qe A Td haeT A QR AT Yk & Siflah _____ g4 €, 57t 39 991 & uahR )R Ak & &, /s
forg SerT v forar T 21

s X 1 fem

75 2. 5T & SrreRoT

o 3.3

75 4. 7t afeR S & fAIg eRor

Question ID : 54062615911
Status : Answered
Chosen Option : 4

Q.29 faaror yorrett it gk Agwaygul stradehar g g fok SusiihTeit & effae iR e d@va gt
Ia1 fA= g+ nfga

Ans X 1. gafaefad i fA=aTd (connectivity variations)
J 2. diees f9=aTd (voltage variation)
X 3. ufoRty f9=aTg (resistance variations)
X 4. T f¥=Td (cost variations)

Question ID : 54062615886
Status : Answered
Chosen Option : 2

===

Q.30 =1 & @ FI-U1 o Q1 IuHRYT B, T Areaw @ g aRuy i fega o1f s ol g uRuy 6
T gfa Y frega Aafh & aear s aear 82

Ans X' 1 AR

X 2 9w

o 3. crEnR

X 4 FRERR

Question ID : 54062615855
Status : Answered
Chosen Option : 1
_= =
Q.31 DC #ier & RReiiwe nfa fAzi=ror fafY (rheostatic speed control method) &, Stoft ufaRteres =t
foredh aieR &vImaT STraT 82

Ans  off 1 amigR aRfEMammature winding)
75 2. @ g2 (carbon brushes)
£ 3. thies aEfET (field winding)
£ 4le 3 (pole shoes)

Question ID : 54062615871
Status : Answered
Chosen Option: 1




Q.32 3wy Fis O v wgfee - fren F AfY 5 o dete U oW F w9 #F Vgy = 20020°
AW o §, & W dees Vi Reaer geme

Ans  of 1. 2002 — 120°
< 2.9020°
< 3 200£240°
X 4 602120°

Question ID : 54062615854
Status : Not Answered
Chosen Option : --

Q.33 yfATa haer & forg Iugi R S areft $ygete arrh @ aifda gor = 7 @ @b-ar T8 82
Ans X" 1. ged wRrdgd A
75 2. 3o dgerE ufddly

o 3. A R amet
75 4. 3o iy g

Question ID : 54062615916
Status : Answered
Chosen Option : 2

Q.34 A9 % Q F19-T1 Tk Naer IURRUT &, FSrent Suaht githe & ReeRidh afaRiy & ufemr & fog
feram STTaT @2

Ans X1 3wz
W 23R
/X 3. AR
X 4R

Question ID : 54062615828
Status : Answered
Chosen Option : 2

Q.35 = & & forg Sioft & Suaon &, e ergada ==uil & {93 gia & ok fafvs a=i i gas Hifaa
e A gia g7

Ans X' 1. gaTeiT 39ERY (Analogiinstruments)
/X 2. ek JuERROT(Dynamic instruments)
J 3. ffSiaet SuaeT (Digital instruments)

x 4. Wy I (Static instruments)

Question ID : 54062615875
Status : Not Answered
Chosen Option : --




Q.36 3ft-BveT &1 &R, 50 Hz, 11000/550 V delta/star, 300 kVA T Qe &R 2137 ZiHRER 0.05 Wb &
T & 91y gRanferd giar &1 ufa =i EMF (EMF per turn) 5iTd 31

Ans X" 1.17.26V

21y
X 3.14v
/< 41824V

Question ID : 54062615863
Status : Not Answered
Chosen Option : --

Q.37 i %t a1t TR o A IS gU a1 H, g N @t fora a0 & 1 St 82
Ans X" 1 e fiig

X 2.0ffg

o 3 =rfig

X 4T g

Question ID : 54062615836
Status : Answered
Chosen Option: 3

Q.38 IAHRR ZRT Afean S&rdr UTe &k & 2T |, Mg g A _______ gry Sqferd fawar s
eyl

Ans x 1. wifazfier &9 @ 9k EMF (Dynamically induced EMF)
x 2. gar uikay aieds (Open circuit voltage)
/X 3. @9Rd EMF (Self-induced EMF)

J 4. SR g1 (copper losses)

Question ID : 54062615867
Status : Answered
Chosen Option : 4

Q.39 fagga uRuyl sk Sumron ot T &, FAdRa wA ofir IR JRan & g Iuzin ko 5=
rerT IUTR A= 7 @ RiF-a1 82

Ans  of 1 fEEfr
K 2.35eR
5 3B

75 4 Refiex

Question ID : 54062615897
Status : Answered
Chosen Option : 1




Q.40 _____, aradie q it gor & aga aifdes gt g1 &)

Ans

/X 1. fedt &g Au
x 2. duéie A (Incandescent lamps)
J 3. TiRbe @7 (Fluorescent lamps)

/X 4. ¥ zaTE AT grEgIeH o

Question ID : 54062615944
Status : Answered
Chosen Option : 3

W Iy o v oRmy $r 5=

Ans

Question ID : 54062615827
Status : Answered
Chosen Option : 4

Q.42 = & & Fi=-f awieR ufeRiues uRuy Y v g fatvar &2

Ans

25 1. Srem-ore uRRl e 3 safthTd et g 8 &
/X 2. uRuw & efl i & URE SaTE T HE gt &

75 3. R HareHs gd &

W W dime g &

Question ID : 54062615797
Status : Answered
Chosen Option : 1




Q.43 waTg R geaenifore Alex 3R $saer Atex & aR & g g aw ad & ar el

1. forelt YR & aTasIg, geadhiiore Atex Uah R sitaa oifar & gear 81
II. WR # gfg & a1y, IRor #iex Y 1fA T g< ah & gl STt 81

Ans X" 1| Trerd, . e

2L
/X 3.1 e, 11, @
SRR AR ol

Question ID : 54062615932
Status : Answered
Chosen Option: 3

Q.44 YfArTd Feret S & forg A 7 @ Fi9-H RS 998 9w ok 9@ a1 82
Ans X" 1. trgeR AR (Fibre laying)

75 2. gifere AR (Solid laying)

x 3. g1-39 AfT (Draw-in-laying)

J 4. S”RFE AR (Direct laying)

Question ID : 54062615920
Status : Not Answered
Chosen Option : --

Q.45 o it fore feam & gwm=T gtar &2
Ans X1 Befig

/< 2. afaomad

/X 3. amad

o 4 amad

Question ID : 54062615845
Status : Answered
Chosen Option : 4

Q.46 T Faw & rgaR, faheh oft foig u= foReft Tag Y A2, foig v wm=T ofik THaReR vere it
ez & it & ot Y wisar & AT gt &2

Ans J 1. A< 1 hieaTfag® (Lambert's cosine law)
x 2. ook it f49H (Inverse square law)
25 3. e aioun Fraw (Inverse cosine law)
?{ 4, gis¢ o1 a1 9 (Lambert’s sine law)

Question ID : 54062615938
Status : Answered
Chosen Option : 1




Q.47 afe =reres a1 graelt R Tgelt & ofik 3T ATy FST goiT WeiaRT Shael 3 U1 o YTRT Sedte o
gfE a1 weft @ age siran 8, | ag g R wefda 82

Ans X" 1 7ifde w9 @ ORa EMF
7% 2. AC T iR & ufarer Righa
o 3 R =UAIRT EMF
X 4. R g Rt 7 1 7

Question ID : 54062615822
Status : Answered
Chosen Option : 4

Q.48 F-USR SR T ITTRT Tk & ateeot & TaroT 3R fagge 2tk & ez & forg forar
ST 21

Ans  of 1 33KV

75 2.88kV
K 311k
/X 4.66kV

Question ID : 54062615889
Status : Answered
Chosen Option : 3

===

Q.49 Uk ©R A A 2 3-thet i & o= a1 ufdamend gicht &1 s1a sits &t 3-thet 400 V, 50 Hz Y
3mygfel & SitsT STran &, t ag 0.8 ugfar (lagging) aTet 21f<h oTich UR 30 A Y TS &IRT <1 &1
e gRT Haret gt 21k Y TorT I

Ans X' 1.1.6627 W
W 2. 16.627 kw
75 3.1.6627 kW
< 4.16.627W

Question ID : 54062615853
Status : Not Answered
Chosen Option : --

Q.50 iR R & o A= d @ FiF-d AT yar & 99-arR sgaer 98 82
Ans X 1. gae 99 IR Red

75 2. el 5 SR Rien
of 3 EEEER Rew
X A fRsrsE & gy River 99 aR R

Question ID : 54062615903
Status : Answered
Chosen Option : 2




Q.51 o9 A R dggadha uard srost fFafa i aRafda #= srggadia uard & aRafda g s

&, I8 ATTHI T SHgerTel 82
Ans  off 1 g arEE

x 2. YaatiRf} o7 argdE (Avalanche breakdown temperature)

< 3.0fFg
75 4. oifden aromm

Question ID : 54062615936
Status : Answered
Chosen Option : 2

Q52 U372 & faege - G9HT W1 & W oA & HER -1 YT TE 32

Ans XL

FoIFH - Toiehet &1 9AT 99 EMF F 9fiEda ST X & s g ar &

X 2 fgr v gl Eeed

d N L
K3 e= —de—f drec, @HET Hohad & A1y

d N LN
vie = —Nd—f Jiee, WA Hehdel & T

Question ID : 54062615819
Status : Answered
Chosen Option: 3

Q.53 Qe YT haet it T-URT-ag aiiar s9eh il Tt R FRuffa Y st @1

Ans X1 gRTA g
X 2 omtaAafy
75 3. TE A
o 4 amm ARy

Question ID : 54062615926
Status : Answered
Chosen Option : 1

Q.54 sftergs argeil A sqeer amft gt anfgu ofik sigpfgat ofk R @ ek gi+ft anfey; s

IHhT RTdEdih A gl SITgm|
Ans X" 7 %R (fragile)
752, dika
of 3. orsht (Ar-Tiw)
/X 435 (rigid)

Question ID : 54062615893
Status : Answered
Chosen Option : 4




Q.55 39 @ UNEE (L-G), 718 @ 154 (L-L), ST @134 @ TS (LL-G), A= 7 @ Frg R & alw

(faults) &2
Ans x 1. agfay ofiR 7ifay Heieft whiee (Frequency and speed faults)

J 2. AT Wiee (Asymmetrical faults)
x 3. gufAd wiee (Symmetrical faults)
x 4. %o thiee (Phase faults)

Question ID : 54062615908
Status : Answered
Chosen Option : 4

Q.56 digl, Ftaree, A, e aar &2

Ans x 1. 3R dAggeenia uare (Hard ferromagnetic substances)
x 2. faga-wfde (Electrostatic substances
x 3. argadhia yerdf (Paramagnetic substances)
J 4. g dliggadhia uard (Soft ferromagnetic substances)

Question ID : 54062615935
Status : Not Answered
Chosen Option : --

Q.57 giEwrR g fRagad, st |

Ans X" 1. argfRy & ufed & T e 21Tk oh TITHIARUT Geh e el BhgER B el &
7 2. amgfy & uRada & AT Gaehia STl a1 TR0 Geh URUY @ gER & gl @
o 3. ey aRad & R Rie wfd &1 wmiaRoT Ogh TRUTg g &
25 4. gy & uRad & e aifies Ak &1 WHiERL g URUY G gER & e @

Question ID : 54062615858
Status : Answered
Chosen Option: 1

Q.58 =Ty fF geaehifores Alex 3R S Aer & aR & g g a2 wg & ar o)

. Gk gedaehiforeh AleR & fAg, SIRifYa aiedst & afRad @ aemegof uwnfaa giar &1
I1. T IRoT HieR & fog, e aieest & uRad= aemegof ot wanfaa a8 aar &1

Ans X" 1| e, Il gEY

p AR AN
o 3 mEa .
25 B G, 11, TTerd

Question ID : 54062615933
Status : Not Answered
Chosen Option : --




Q.59 firemie a9 & forg et o1 IuahT /it fovar SiTeT 8?2
Ans X 1. i & wg T gl @

/X 2. 75 a1 3R farega & greTeren @

7% 3. e e sife e g @

o 4. s e Sif gea g @

Question ID : 54062615805
Status : Answered
Chosen Option : 2

Q.60 =1 & & fohw sioft o Iuehzor 3& Twa et faege wm & ufkwmor ot $fa o 8, sta 3 amar
ST BT 8?

Ans  of 1 7= (Indicating)
75 2. Wf (Static)
x 3. AT (Integrating)
75 4. Raif&m (Recording)

Question ID : 54062615877
Status : Answered
Chosen Option : 1

Q.61 oft thet Reen d s glar @2

Ans x 1. I Geforat & 9 EMFs ORa gid €, St 9+ft At 8 99 gla &, Ra giah fh a uo gk &
360° TEH T A TR EA &

X 2. d7 greforat # dhaet Ter EMF URd glar 8, St w+ft Arell & a9 g1 8, fara 59 fon

reforat geh gER @ 120° T1SH thef ¥ SR 8l &

x 3. ®: Gefordl § i EMFs ORd 8id &, St o+l areedi & 991 81d ¢, Raa s9ah fh d g g &
60° 72T ol § ATER B B

J 4. fF Freforat § 9 EMFs URd g1d 8 it 9aft Alei & a9 gid 8, e sah R d g gk @
120° TT3H ST A AR B &

Question ID : 54062615832
Status : Answered
Chosen Option : 1
= =

Q.62 Qe ateesieR (V) 3k Ueh QHier (A) it Sug=h raeT e IUaRT &R DC uRay & 21k & A1 &
ERTH, Hehfaa 2ifvh il fohereh gRT o< foRaT STrar 82

Ans X" 1 g Sifh +ateedie § aifth g1
< 2. afr el e + deerier § afs 1 gf
o 34U & @ua + T F s A ey
X 4. 1w & @ud - Wl F aifth dr aif

Question ID : 54062615881
Status : Answered
Chosen Option : 4




Q.63 ______ o1 i shregedicpa FRisror yonferal wht farsteht Y gof fAarar gRffa o g, e
farega smgfet i frcherar & wRoT A AEvagUl IuERUT T@RIE 7 g 9|

Ans X 1 ded TR
W 2.ups

/X 3.SMPS
X 4 gl

Question ID : 54062615808
Status : Answered
Chosen Option : 2

Q.64 i< BT aTet TR R A SIS gU @ (three-phase star connected system) #, aedes arsfET &
URe gieest T shgdrdr 8?

Ans X 1. e dtee
/X 2. safe dees
/X 3. Rra et
¥ R E

Question ID : 54062615838
Status : Answered
Chosen Option : 4

Q.65 DC R i g1 & AC fawew wmywe i glar &2
Ans o 1. AC dit @t s & afmror & aRafia fa o e

75 2. 9 IUERROT & forg DC et eht IuT Y feha ot el @
75 3.DC fire Rien Toa 7 @
75 4. DC fRreew a1 1Ty Freiren sreest 7 gm @

Question ID : 54062615841
Status : Answered
Chosen Option : 3

Q.66 ﬁwﬁﬁaﬁmmawﬁaﬁuﬁé;ﬁaqﬁ%‘!

Ans  off 1. R e S RigeR ot gRfde we A e e 8
25 2. fafioR U 4R Y e et ofR ST ahed & Geifere &
X 3. Ffafe s &) goa @ s @
7 4. R iR g a1 s uRfRifE! & wferd gidr &

Question ID : 54062615898
Status : Not Answered
Chosen Option : --




Q.67 R g AgRadn & fog Iugh faeed o1 au= &1
forega afkay : EMF :: gadhg uRay :?
Ans X" 1 <udhig wied
/X 2. ufreey
/X 3. RRdga s
J4.gia—cmarma?aa

Question ID : 54062615814
Status : Answered
Chosen Option : 3

Q.68 0.02 mm & =T aTet AR @ Yeh UTg-fherdie S s strar &, fiwrest fhamde 240 v g1 af &g
2420°C & fhemie argHT= R 60 a1 Weh12l herrar &, af AU o1 ufaty wira fifSig)

Ans X" 1960
/< 2.4800
o 39600
X 4480

Question ID : 54062615796
Status : Not Answered
Chosen Option : --

Q.69 P & & F-+ft fRrafieR & ga are-a st 78 &2
Ans X" 1 qof @i

o 2. R garh gad & gofa: @i aRerem

/X 3. dm e @i

75 4. e ufemem

Question ID : 54062615901
Status : Not Answered
Chosen Option : --

Q.70 Tk _____ # &Y ifRa Gsforai anfae gidht €, sit faega &u @ sremt-srem gt 8, A gadhia ®a
g afaery Foua gt g et 81

Ans  of 1 cigmri
X 2. 5T T R
X 3 ARERR

X

Question ID : 54062615857
Status : Answered
Chosen Option : 1




Q.71 %ot ‘b’ &1 EMF %ot ‘a’ & EMF & 120° deh g2l & 3R 3ft avg ‘'c’ &1 ‘b’ @ 120° d ugpmht

Ans

21 %t 31sRA (phase sequence) T ghM?

x1.cba
xz.bac
X3.acb
o 4abc

Question ID : 54062615834
Status : Answered
Chosen Option : 2

Q72 e & G_!:?i §'E' GES (star connection system) F Vyg ik Vyy & &= 7 Teer grar %""

Ans

. 1

K Vg = (7)o
K2 Vyg = 3 Vyy
X3 Vop = V3Viy

W 4 Vyp = Vyy

Question ID : 54062615851
Status : Answered
Chosen Option : 2

Q.73 Etucarad amEmeiih ______ & i & oiaR @l thet 3iaR (phase difference) gl STTaT 81

Ans

75 1. s
W 2 s
X 3. ot
X 4.wmm

Question ID : 54062615846
Status : Answered
Chosen Option : 2

_
Q.74 afy TEHHEM U 18 921 8, al SiawrR fhe UehR &1 gim?
/< 1. DC gimmR (DC transformer)
J 2. ©U U TIBER (step-up transformer)

X 3. &¥c SR (current transformer)
X 4. QU S ShER (step-down transformer)

Ans

Question ID : 54062615861
Status : Answered
Chosen Option: 3




Q.75 UPS fares & g geanl # aar-aar anfae giar 8?2
Ans x 1. T 3R
x 2. U MuraiyantY (standby) st
J&%Qﬂ‘qaﬂﬁﬁw
25 4. Qe YRR 3R ArgReez-Frifa 3ed asik

Question ID : 54062615798
Status : Answered
Chosen Option : 3

Q.76 daehia uarf i S - A 7 v SiTen 8, 49-39 SHwT e EmE ____ |
Ans X' 1 3R w0 A Sgard

75 2. 5ga ash @ wear &

/X 3. smfea gar @

of 4w

Question ID : 54062615812
Status : Answered
Chosen Option : 3

_

Q.77 Qe faa=or voret |, Aexi & gRT FarE | e, sTaaft veRrer SR Idh ST SIe gehe fhe
HRUT A gl §?

Ans X" 1. fw sRidgdieh (low permittivity)
/X 2. F= iRy
X 3. FmdwRs
W 4 P dRw

Question ID : 54062615887
Status : Answered
Chosen Option: 3

Q78 e sw ¥ R & & e g o (symmetrical star connection system) &T Viyy, 230230° &)
%= 3FH RYB &1 Vay FT AR AT HL

Ans 1. 230490°
X 2 2302~ 90°
v 3 398.37£60°
K 4398372 —30°

Question ID : 54062615850
Status : Not Answered
Chosen Option : --




Q.79 fATa e STe+ & g U 31-39-af Rew & fog B § @ wi9- g |t d@wean =8
&

Ans ( 1. QegHifam & aferent (Duct of aluminium)
x 2. THehd gy Mt T Aferar (Duct of glazed glass)
/X 3. argeRet (Conduit)
x 4. YR 1 Fed dlg & AfereT (Duct of stone or cast iron)

Question ID : 54062615921
Status : Answered
Chosen Option: 3

Q.80 Which of the following properties is not desirable for the insulators in overhead lines?

Ans ( 1. Low relative permittivity
x 2. High mechanical strength
X 3. High relative permittivity

x 4. High electrical resistance

Question ID : 54062615892
Status : Answered
Chosen Option : 3

Q.81 yfAa haer & fAmfor & ek 4, A 7 @ -1 ergerm Tl @2
Ans X 1. R, SR, AETR, w1fen wRa, Af&T, @l (Core, Insulation; Armoring , Metallic
Sheath, Bedding, Serving)

X 2. &R, 3GeIH, UTfce Uz, Ffd, IS (Core, Insulation, Metallic Sheath, Serving,
Bedding)

75 3. R, urfren o=, A&, Sgeie, TR, A (Core, Metallic Sheath, Bedding,
Insulation, Armoring, Serving)

J 4, PR, 3geiH, aTfce Uz, SfS, i, afcfm(Core, Insulation, Metallic Sheath,
Bedding, Armoring, Serving)

Question ID : 54062615915
Status : Answered
Chosen Option: 3

Q.82 e YfATd heret fA%ew & ATeTehl ol WRTAEIA & A1eAH & Y vt e &, eent / aeht
arg & agd 9ifdres giar / gt 1

Ans X 1 yeiger
X 2. gy ot
o 3, R
£ 4. ufRterear

Question ID : 54062615925
Status : Answered
Chosen Option : 3




Q.83 oI 2ft-thet arelt w1 & =l TTeTeR] @ QiTE-afdhe Y feafa & ges a1y @ siran g, 9t 399 A=
d & {9 UehR <Al Wice g SITdT 87

Ans X" 1. % wiee (Phase fault)
( 2. gAfAA Wiee (Symmetrical fault)
x 3. agf ok ifq Hefeh wiee (Frequency and speed fault)
x 4. IEHfAd Wiee (Asymmetrical fault)

Question ID : 54062615910
Status : Answered
Chosen Option : 2

Q.84 Uk Ursfehet # 1fera® 919 Vm arell 4T 937 (sine wave) <k 3i9d A4 =T gidr &2
Ans _ vm

Question ID : 54062615843
Status : Answered
Chosen Option : 3

Q.85 DC uRu # 2rf<h vt fohaeh gRY ATuT SITaT 87
Ans ( 1. areHier (wattmeter)

x 2. thiadt fiex (frequency meter)
x 3. &apiHter (tachometer)
x 4. % Wadd Htex (phase sequence meter)

Question ID : 54062615880
Status : Answered
Chosen Option : 1

== =

Q.86 Frachia uaref &Y ag fAiwar o hgard! &, S FRUT IHF Gached & I g R ITH Sl
T &1 glan 82

Ans  of SRR
X 2 s vl
#5 3. RER 9Rd EMF
p R

Question ID : 54062615824
Status : Answered
Chosen Option: 3




Q.87 ______ @ 3ifde giedw & forg, feaafar Suwa ) a1 &man simar &1
Ans X 1.11kv

o 2.66kv
75 3.44kv
/X 4.33kV

Question ID : 54062615904
Status : Answered
Chosen Option : 4

Q.88 wHqfera srawyT #, cfleweie |q ol fohe yepR fa=afa fora s Hear &2
Ans X 1. Soft o 7 &t Soft ar

75 2. quicR o & & gHiR R
75 3. 9oft o & & gwieR AR
W 4 TR A 2 ot ar

Question ID : 54062615802
Status : Answered
Chosen Option : 2

_

Q.89 guff EhfS (rotary compressor) @t T & forg A= & & fhw wiex &) urufAerar & st 82
Ans x 1. off-thet TRUT AR (Three-phase induction motor)

x 2. e Hiex (Universal motor)
x 3. DC =uft Hiex Jedentierer Hex (DC series motor Synchronous motor)

J 4. JeahIfeia Aiex (Synchronous motor)

Question ID : 54062615870
Status : Answered
Chosen Option : 2

S

Q.90 ws 250/2000-3Tee, 50-Hz f&eTer that STEWIAT T FIT F1 HUFaH Foay o=ed 1.2 Wo/m? ¥ afy
gfa %7 EMF (EMF per turn) 8 a1 &1, @ #R &7 &% AT H{]

A /1003 m?
<205 m?
< 3 0.25.m?
< 4.0.05 m?

Question ID : 54062615862
Status : Not Answered
Chosen Option : --




Q.91 = &t aTet TR R & SIS gU @ (three-phase star connected system) & gl oft efifaat &
g & dffT IueTey dieest T HEeTdl 87

Ans X 1. Sraflre dieest
75 2. R dies
75 3. thot dteest
o 4 AR

Question ID : 54062615839
Status : Answered
Chosen Option : 4

Q.92 iqwhriR &Y AT ol g forad ek foha iTar &2
Ans X" 1 wh

W 2 kva

75 3.V/Ah

75 4. KVAR

Question ID : 54062615865
Status : Answered
Chosen Option : 2

Q.93 waTg fF geaehifores AleX & aR # Ry g a2 9 g ar 1|
1. v, gfé ot avg @ A Ak urd )

I1. S geaepTicieh AleR ol Geth WIE &d &l
Ans  of 1 | T@, I wE
P AR AR
2 3.1, T, 11, Trerd
X 4.1, . e
Question ID : 54062615931
Status : Answered
Chosen Option : 2
=

Q94 Crpadefims dir &, uricAs we § e § ¥ S sfefrher o adr 32
Ans 1. NiQH,

~< 2 KOH

« 3 Ni(OH),

/< 4 Cd(OH),

Question ID : 54062615810
Status : Answered
Chosen Option : 3




Q.95 STgi aek faa=ur wonfarat o1 Tare &, afe aifda aieest 230 V &, at Susi=ht &1 Swaaw aieest
Q 31fder T g1 =iy, STafes Sui<hT &1 9ad A=ay aieest q & T g1

eyl
Ans X" 1.258V;202V
o 2.253V;207v
/X 3.272V; 200V

/X 4.235V;225V

Question ID : 54062615884
Status : Answered
Chosen Option : 4

Q.96 e A Fil IR oI} A R @ emua A 31 gE &: g A sfiRc F fradR1 =80 0; fiig
BaRCHHAadR2=1200; RigA R D FMadR3 =480 0; RigB iR DFAaFR4 = 160
Q; faig A 3R B & sfir 100 V i amgfel =Rt siter war @1 folg C 9k D & ftar en<eye atedst &1 a4

w4 fifag?
Ans X" 14825V

o 235V

K 360V
X 425V
Question ID : 54062615803
Status : Answered
Chosen Option : 3
=
Q.97 hise & 3R 19 & A1ead A fasTell & SR, STRQ A9 Fl SRS d R UFRISAI R ______ &M

A &1 TS Y hifea Y aorg @ ug UehIn Tthe gian &1 & Tod aredditd deal i avg mf T8t
gad

Ans J 1. Brige TR T3¢ god (Compact fluafescentllight bilbs)
x 2. FeiRIe ge (Fluorescent bulbs)
X 3. gaitoid e (Halogen bulbs)
x 4. Tifeaw arsT s (Sodium vapour bulbs)

Question ID : 54062615941
Status : Answered
Chosen Option : 2

Q.98 ___, vite UR thol SIIehH ol w2l ST Hehell &, §Tetith 3-Uhol SATYfel ohl shH §HIA TgaT &1
Ans X" 1 e A G el ) Sharel eh ari=afeha

252, ke & S & seere)

o 3. 9 H & Rl & et e oo e

75 4. 0 dherell Y oo & et

Question ID : 54062615835
Status : Answered
Chosen Option: 3




Q.99 Yfara el & AW #, BT | § Fi9-91 RS et & araw J gfE 1 Rt g sear 82
Ans X 1. widgd & AT B

#< 2. IR0 F ¥R GRT Y B

75X 3. =reret & R gl

o 4. T e uRRte

Question ID : 54062615927
Status : Answered
Chosen Option : 4

Q.100 af Sioft arEfEn @t uRadf ufaRiel grr 21 forar StTaT @, at DC Soft Hier wR = yamg ugm?
Ans o 1. riter i mfy 76 SO

X 2. HieR &) i e g gt

/X 3. e # otg g1f g St

x 4. &R0T U (leakage flux) Teeh =T 8 SITQ

Question ID : 54062615872
Status : Answered
Chosen Option : 2

_

Q.101 <1 +ft foreft Aeaeh W= ger @ 31fder ot & 3ifer o1 yanfaa 8= st i i (fault) 3man @, at
gt iran & foh gom gl

Ans  of 1 o wfe
/X 2. sty uRada
/X 3. Ot e
X 4w wie

Question ID : 54062615906
Status : Answered
Chosen Option: 1

Q.102 giwrR & Hifaes enuR @ arcd Yeh =T Gahia ool ZRT 92 &t ulRuedt & diw e
gl

Ans X 1 RO
/X 2. Y gaiom
75 3. R S0 g aRa arr
W 2R Re S

Question ID : 54062615856
Status : Answered
Chosen Option : 2




Q.103 31 # & Fi-u1 farered w1 & g wg=h g1+ aret aifies Iuaroil & @1 (wrel) ot e Tt
AT 8?7

Ans X" 1 aferer 3 forg fanedt se fareTelt &Y el &Y arrasaene E gt @
75 2. 5T T TRe SR SuET ST g
o 3. 57 RO Ay o A gar &
X 4. R 3R Try-sraRad-ia Amnett & A1 & forg fayeiia sfik 3fa &

Question ID : 54062615874
Status : Not Answered
Chosen Option : --

Q.104 fa=or yorelt &, AY 1 TURR T @ FH ST T IUHRUT T TRTE gt ST, 59 TRR H
fawerard fore avig @ gt &2

Ans X" 1. e wrdgdia (low permittivity)
X 2 P dies
/X 3. F= iRy
W 4 s aRw

Question ID : 54062615888
Status : Answered
Chosen Option : 4

===

Q.105 FaTd o geaehiioie AteR 31k BRUT Hler & ar # Ry g a2 9 & ar 1edq|

. Geh gedehlioreh HieR &t 21T~k ShRehl Y Yeh fawgar sjaen & anfera forar i eran 81
I1. G DRUT HleR g2 Yok T 2Afh Rk & 1Y Tt gl

Ans X 1| e, Il gEY
p AR AR
25 3.1, e, 11, TR
o 4= e

Question ID : 54062615934
Status : Answered
Chosen Option: 2

e

_
Q.106 21f¢ Afthe & ATAe #, dieest

Ans X' 1 SR EUE I

AMRYRT___ @it @l

o 25 S R @ g

75.3. 5 3

X 4. ramH T @ Ie; FHH T A I

Question ID : 54062615907
Status : Answered
Chosen Option : 4




Q.107 Uah URT SEHTHR 7 U vearadt arT &) e & @ fraehl aeg @ a@mar S 9ehar 22
Ans  off 1 T 5A ¥ AC TR

/X 2. 5re DC Rysramdt

/< 3.5 100A %7 DC fiex

75 4.\ 230V 5A idheR

Question ID : 54062615830
Status : Answered
Chosen Option : 1

Q.108

Aed-FS TIFY &1 gl 81 39 UahR & Fafor d, ot wsfia s ot ave 9 ge eifdfr arg
F o A2 ER &

Ans X" 1 fefSieet SuaRol
25 2. et feafiar
/X 3. G SueRRer
o 4. TR iR

Question ID : 54062615905
Status : Not Answered
Chosen Option : --

Q.109 =1 & & T faaror woneft Y S gterstt ot Rt T8 @t 82
Ans x 1. 1 89 e (Ring main system)
X 2. 3P e R%eH (Interconnected system)
( 3. ar IR (Star-topology)
x 4. STt A (Radial system)

Question ID : 54062615883
Status : Answered
Chosen Option : 2

Q.110 sfteRgs @15 & YR & g arrge: fore arwft o Iuzi forar srar 82
Ans X1 e

X 2.3
( 3. Uifdi@ (porcelain)

< 4 wER

Question ID : 54062615890
Status : Answered
Chosen Option: 3




Q.111 off T dhae woTell AT ______ 3ftargs d1s+1 ol gt & 3ifden Ageayof ghar g1 9w safeg ghar
&, Tk haell # ATeTeh Teh-g@R & UTH &1d & 3R SMMaRoT & Ty IhT aiff i wvedt 21

Ans X' 1 Rea
o 2 afar
/X 3. ufreey
75 4 vfRRy

Question ID : 54062615924
Status : Answered
Chosen Option: 1

Q.112 = # 9 foFa Aot & Iueron i uRRegar oiik dare= Y nfa 3= g &2
Ans X 1 yeredt 4RT QT SueRROT

75 2. e 3ueRor

/X 3. cuET 4RT G SuehRol

o 4. RfSee suawor

Question ID : 54062615873
Status : Answered
Chosen Option: 3

Q113 symey Im@r X g2 1 TEET ST T 4x 1070 T ¥ 2 F Ry 0T 1 Aeew HY1 g A
= 6.4 x10°m A

Ans X 1.1.05x 1022Am?
v 2 892 x1022A m?
/<3 8.92x102°Am?
/< 4 1.05% 102°A m?

Question ID : 54062615869
Status : Not Answered
Chosen Option : --

Q.114 yfra el &, FRafaf@a & @ o9 ar s=geF & g g sifde Iugin i s areft arrf
@i e?

Ans X" 1 afier fa gom &fEies (Varnished cambric)
X 2. IR @it Giffier (Rubber mineral compound)
x 3. I¥fIa 9w (Impregnated paper)
J 4, TR wigsR (Impregnated fibre)

Question ID : 54062615912
Status : Answered
Chosen Option : 3




Q115 RYB %= 3GwA & 3721 #7 & ¥ qU a7 & i Y 3R B & arf 3R dieds 415260° 1 wew
FreesT Vg T HIA AT H

Ans  of 1. 415260°
440
X 2 (—) 260°
V3
<3 4402120°

< 4 \3(415260°)

Question ID : 54062615852
Status : Answered
Chosen Option : 4

Q.116 iR, ateeHier, areier, sngfamTd (frequency meters), 21f<h Tores ATt (power factor
meters) geaTfe foha SYoft & Iuevon & ord &2

Ans X' 1. gareer (Integrating)
o 2. 9= (Indicating)
75 3. Wf (Static)
X 4. RapifEm (Recording)

Question ID : 54062615878
Status : Answered
Chosen Option : 2

Q.117 fhaa o & aieet o forg Odter yfara Sl a1 suahT farar sirar 82
Ans X" 1. 66 kv sife

/X 2.66 kv @
75 3.22kV @ 66 kV T
v RINNE

Question ID : 54062615918
Status : Answered
Chosen Option : 3

&

Q.118 Teh TlAAT5S bl kiR [T uref &1 a1 gidT &, STeh! mifaies Ui« 400 gt 81 Sieiss i
aTEfET Rk A AfAT gt @ 3R 2 A Y aRT & STt &1 afe &R (turns) &Y Tz=am 1000 ufa diex @,
at thies H R o a6l

Ans X 1.5x10%A/m
< 22x 1072 A/m
X8 5x1072 A/m
v 4 2x10%A/m

Question ID : 54062615885
Status : Not Answered
Chosen Option : --




T o aRwy F gaifed @ AT e ORT W

5u.v<i> o 10chm

Ans X" 1.15A

X 2.1A
/X 3.5
of 4.10A

Question ID : 54062615847
Status : Answered
Chosen Option: 3

S

Q.120 =9 & T & IR, foig Fia @ 31v9 o=1a™ ol UTe @t arefl ag 6l A2 Tag sikR wa &
ot i gt & it & esrmrgUTe! gl 87

Ans X" 1. ache sl T (Inverse cosine law)
x 2. @< o1 541 7 (Lambert's sine law)
X 3. diaE o1 hieaT 499 (Lambert's cosine law)
J 4. geohd it W (Inverse square law)

Question ID : 54062615937
Status : Answered
Chosen Option : 3

Q.121 geifam, Sifeas, Sfekrm, sifaefis (STP uR) SR shiuR aiRkise Tt & IerERoT
gl

Ans X 1 frega-xdfdes (Electrostatic)
o 2. s (Paramagnetic)
/X 3. Rigaieh (Insalating)
x 4. Ag-gahia (Ferromagnetic)

Question ID : 54062615928
Status : Answered
Chosen Option: 2




Ans

X1 g

o 2. fgge-gadia g
75 3. guchia g g
75 4. RRAYA grerhea

Q.122 gg gfRaeATr &1 hgard! g, Sas EMF 3R 9RT (a1 seiaei-1 o1 warg) foreft oft areres & oRa

Question ID : 54062615817
Status : Answered
Chosen Option : 4

Ans

Q.123 R-L uRUY & SIRT kT SisTeh AT g1 8?

xu=—@(1—exp(c—:)t))

Question ID : 54062615848
Status : Not Answered
Chosen Option : --

Ans

Q.124 fTd el ot ST 3R AWRT A Aie @ = & AY 39 R Tt a1g H RA F FwR
Qe URA TSTE S &, St I a1 2 u wieft foheft YeR armht @ =i gt &1

of 1.3 (bedding)
/X 2. g=er (Insulation)
x 3. gfd (serving)
/X 4. 3R (armoring)

#r

Question ID : 54062615914
Status : Answered
Chosen Option : 2

Ans

X 1. Repif&m o (Recording instruments)
X 2. fefSieet SuaRzur (Digital instruments)
x 3. TWfdek IueRoT (Static instruments)

( 4. TATANT 39T (Analog instruments)

Q.125 ek TR gk 3R I Fuse YHIex (moving coil ammeter) fora Sioft & Iuervor a1 IeTew0T 82

Question ID : 54062615876
Status : Answered
Chosen Option : 1




Q.126 =1 & @ sl=-a1 a2 HRC e & Heifda 78 82

Ans X 1. 78 St &Y URTS Bl YoheTaTgEch Tl Xich Fehell @
£< 2. I AR TR SHT IGINT BT e el
25 3. 19 B T Sgd1 8, ot I Seer § g H a1 @
o 2. 75 3 < sl ) GoReraTgde e TR 2

Question ID : 54062615900
Status : Answered
Chosen Option : 4

Q.127 3ifget Gfhe Seh?l &, 3iTeh T AT STAUTH & A< e aifee e & 3R 3= a9 wR 39 faf = iy
& &9 ¥ ygita amn § e e a1 81 39 ufehar & fA A @ sla-f A9 3= 781 gt &2

Ans  of 1 T sEitaETES
75 2. grEgem
/X 3. uRem
5 49w

Question ID : 54062615896
Status : Answered
Chosen Option: 3

Q.128 f&Te-=f ursHt gk Gek 1000/5A HRT TG # 200 dehst & &1 V-394 i igurd 71
oy

Ans X" 1.100:5
o 2.200:1
75 3.5:100
75 4.1:200

Question ID : 54062615831
Status : Answered
Chosen Option : 4

S

Q.129 =1 7 @ fFg v & af & & WR aren 78 AwR A gtar 87 39 & , 78 dur @t fega
TRT ZRT Foll e i -Sirehl &, Sit fawarst ufthar & areaw @ wrdn=t fAferor scafSfa sear @
3R oRIdTI fafRRor g9 yeRTer i RAfRRE Fe & forg du &Y sriafke far oR e Fifér o
famfor =ar 21

Ans X 1. geiisay (Halogen lamp)
x 2. Gifeaw duR &9 (Sodium vapour lamp)
2<.3. LED &4 (LED lamp)
of 4 MR Fa (Fluorescent lamp)

Question ID : 54062615940
Status : Answered
Chosen Option : 1




Q.130 29I 273U S HRR fi &R (shell type transformer core)

Ans

W 1. 5= i & Rt @

X 2. ey wiftn

2 3. arfir grT wRfRd o 7 iR she
75 4. 3o e o e o

GECiE]

Question ID : 54062615859
Status : Answered
Chosen Option : 1

Q.131 g 71g wrg2a«r & forg Iugeh faerea &1 77 w1

Ans

frega afuy : aretee :: e afkay :?

X 1. b
X 2. iy
/X 3. ufereey

o 4 o

Question ID : 54062615816
Status : Answered
Chosen Option : 1

R S
Q.132 ffTa dhaer hi et arf =t g+t wfge, it gar o1 g @ i &t saaniRa A a
farQtoar o shgerelt 82

Ans

x 1. 1R fage (non-toxic)
x 2. iR Sge==fet (non-inflammable)

x 3. R W1 (non-dielectric)
J 4. TR mgamgt (non-hygroscopic)

Question ID : 54062615917
Status : Answered
Chosen Option: 3

Q.133 1 m & 7 v =reE 1.5 Wh/m? Fored Oeed O FERT gah 89 F 50 m/s F 39 F TESOT W

Ans

T waT 1 $EE SRE EMF #$r e 3
X 1,75k
X 2.8kv
of 375
X A8V

Question ID : 54062615823
Status : Not Answered
Chosen Option : --




Q.134 fa=1 & @ hi9-a1 faeea uRuy fa=deer (circuit breaker) & Siforaf ot o gl ahear &2
Ans X" 1. sifser Gfthe s (Oil circuit breakers)
J 2. Gewgen Uis dfche stem (Sulphuric acid circuit breakers)
x 3. R =e Gfdhe st (Air-blast circuit breakers)
/X 4. dgm gfdhe SR (Vacuum circuit breakers)

Question ID : 54062615895
Status : Answered
Chosen Option : 2

Q.135 579 & §qe # gerd 1 1 o argue grewRR & e Rt i @ awer 87
Ans X" 1. ger uRuw dlest (Open circuit voltage)

x 2. gteear 80T (Voltage regulation)
J 3. g&7dr (Efficiency)

x 4. g Ryl 4RT (Short circuit current)

Question ID : 54062615866
Status : Answered
Chosen Option : 1

Q.136 RS, g & Rgela ______ ol 19 5 & T0Teh & SRTeR 5eT a1 81
Ans X" 1 g gme (field strength)

75 2. ufdy

o 3. =

7< 4. & e (field intensity)

Question ID : 54062615801
Status : Answered
Chosen Option : 1

S

Q.137 fasteft & ar &t f3omga A & fog A 8 @ foF e aRes = =R forar sirar @2

Ans (TW

X 2. Rroreft o fies Rrer

75 3.PT sguia
X 4. Froreh shie 8

Question ID : 54062615806
Status : Answered
Chosen Option : 1




Q.138 7eg g & 50 cm # gff T 5.0 cm A ¥ UH &5 9% (bar magnet) % FROT HFTAET 8T F
oftToT FT gRT? E du @ g MOt 0.40 A m? F

Ans o 1.32%x1077T
K232T
K332%x1073T
KX432x10°°T

Question ID : 54062615829
Status : Not Answered
Chosen Option : --

Q.139 gaft feemsif & 1200 Im &1 Ueh12T 37 GTT Ueh AU hrdfehR) Tag @ 8 m IR fAwifaa gar &1
FRIFR TG W @9 & U1E & 6 m ¥ e g foig ur §fty o1 a9 7@ 1)1

v 1 0.76 Im/m?
< 2 1.858 Im/m?
#5305 x 103 Im/m?
<4 1.232 Im/m?

Ans

Question ID : 54062615939
Status : Not Answered
Chosen Option : --

Q.140 94 t = 0 W= R-L Ry & &R k1 719 /1 ghm?

At o1 0A

Question ID : 54062615849
Status : Answered
Chosen Option : 4

—_—
Q.141 gg aTYHT T shgerta &, f WR siurfaes gaerl 1 hu- argfeder ok TREUT & aTeR 8 ST @
arfes gearchra arTef g gt wimg?

Ans X" 1 Qdaish o
X 2. frfenet sSeheraH
/X 3. Qatish aromEE
4T

Question ID : 54062615813
Status : Answered
Chosen Option : 3




Q.142 9 a # =1 tot o= fRATR 1@t Afehas A4 &l Ut ohd g, 38 fhd wu & S1rr Sirar 82
Ans J 1. thT 3gehH (phase sequence)
x 2. thef faare (phase distraction)
x 3. thef 3faRTet (phase difference)
x 4. %ot gRade (phase alteration)

Question ID : 54062615833
Status : Answered
Chosen Option : 1

Q.143 1 # & F9-41 AU StiaRer uehter saeyr & g qege: Iuai g forar simar &2
Ans X" 1 Acer @emrgs U (Metal halide lamp)
J 2. {91 319 a1t g8 @d (Low pressure hydrogen lamp)
75 3. weiR¥e i (Fluorescent lamp)
/X 4. amé S (Incandescent lamp)

Question ID : 54062615943
Status : Answered
Chosen Option : 3

_

Q.144 4x107°C % w3y 71 37a ¥ Rega &7 # fowg vs g a5 a7 & 40 J &3 B o, 5w fag
T forer fohete gmT?

ans 1100 V
<220V
va10V
<4103V
Question ID : 54062615807
Status : Not Answered
Chosen Option : --
& A
Q145 SIyRUTwgsT arelr _____ fR=fieR o1 sreraw w9 & ok g9t Iugi o=, sraferal | A

e 3R 31 IuweRdl ot Fafaa ok w:fara s & forg v e @1
Ans X' 1 g3 R
X 2. HRGf@=
/< 3. sirm T
W 4 eTRiET

Question ID : 54062615899
Status : Answered
Chosen Option : 4




Q.146 fEafER Iuwrd & =1 & & o T & vl &t FAesfa =& e 82
Ans X 1. srgdiee a1 Remfa few

#< 2. sifger

X 3. s e

o 4 dcadeax fRa

Question ID : 54062615902
Status : Answered
Chosen Option : 2

Q.147 Qg 7q Argeaan & forg Sugh farere &1 aa= &l
ot o1 g : fER =0 @ 9fka EMF :: vt e o2
Ans X 195 @R 3R 7 € e U § 0Rd EMF
o 2. 7 =u 3 9Ra EMF
25 3. F@R 3R fdeh 2T = @ IR EMF
/X 4. =9 A Rd EMF

Question ID : 54062615821
Status : Answered
Chosen Option: 2

=

Q.148 sefaes didiea sk e Afch e i) srgua # fr Alex a1 sugi forar s wfeg?
Ans x 1. fe¥eRet &t TRUT AYeR (Squirrel cage induction motor)

x 2. f&rg-far oot Aex (Slip-ring induction motor)
x 3. DC gie #tex (DC shunt motor)
J 4. DC goft 7ex (DC series motor)

Question ID : 54062615868
Status : Answered
Chosen Option : 4

=
Q.149 At 3iik argriea A dhaer it 7+, T4 a1 310 gTRPRe a=e UeTdt 9 Ta™ & forg @7 @
arfeg?

Ans J 1. ST GRS TRTegHIaH hl erfeieh tRd Tgrt gidl &
#< 2. et PR STaRTet 0= T el g1aT @
75 3. SR TR AT 3% &Y Tk TR TgTE S @

75 4. gEITd T SiTeRoT

Question ID : 54062615913
Status : Answered
Chosen Option: 3




Q.150 fo & @ wi-ft ey dedt &1 SargRor 7l 82
Ans X" 1. Rk 38
/X 2. Preper-amaza dedt
( 3. @e-uf¥e &t (Lead-acid battery)
/X 4. Freper-defiom 48

Question ID : 54062615809
Status : Answered
Chosen Option: 2

Section : General Hindi and General Knowledge and Reasoning

Q.1 ‘Sit 3= FeT A I g gY arerie & g uek oree &:
Ans X 1. 3w ge

X 2.geia

/X 3. et

V 4.5ef

Question ID : 54062615957
Status : Answered
Chosen Option : 1

Q.2 TS H FUAT JhETH T FHT - & g e ggrer &:
Ans  off 1 o R R FeErd AR

/X 2. @ g g

/X 3. 3itd geft &t geht g =T

75 4. ge e

Question ID : 54062615960
Status : Answered
Chosen Option : 1

Q.3 F=fafaa d 9 sig ez 8:
Ans X" 1 geften

75 2. sfog

o 3. e

£< 4. wEmet

Question ID : 54062615959
Status : Answered
Chosen Option : 3




Q.4 fAH 2reg &1 I |1 g Ted 87
Ans X 1. 3T - SIS

o 2. 5o - su

/X 3. 3@ - SR

X 4.3u-d=

Question ID : 54062615955
Status : Not Answered
Chosen Option : --

Q.5 ‘ant # & G @ &1 e J s fAstoor &
Ans X' 1 demarae fagor

/X 2. uRmTOTETY fstyor

o 3. oraTEE Rigtior

/X 4. ardfas fagror

Question ID : 54062615952
Status : Answered
Chosen Option : 3

_ T

Q.6 fFr=fafla acw aga e ge | @ @i a1 faee iy &
Ans X" 1 qor - ferenr

X 2w

/< 3. 3@ - sifw

of 4. aof - o

Question ID : 54062615948
Status : Not Answered
Chosen Option : --

Q.7 Fr=afafla & @ o= a1 demt = 22
Ans x1~3‘_"

X 2. dma

W 3 R

X 43

Question ID : 54062615949
Status : Not Answered
Chosen Option : --




Q.8 ‘o FraEm I d:

Ans X" 1. cfRhares g
25 2. sfarees g
/X 3. TgaTes g
14.‘1112@?@21311

Question ID : 54062615950
Status : Not Answered
Chosen Option : --

Q.9 @I T A AT Tk &7
Ans o 1 waar

X 2. wee
75 3.3
/X 4. Frdat

Question ID : 54062615947
Status : Not Answered
Chosen Option : --

T

Q.10 arery i TaTfeey wR fopey g a1 v faman sran &2
Ans X1 iy g

X 2. e Rig

75 3. oreu R Rig

4. i e o

Question ID : 54062615962
Status : Answered
Chosen Option : 4

_ ==

Q.11 31Tt ST A UTs Ugdrd & | 3Gifehd =i frar 9e &:

Ans o 1. SRomefa R
/X 2. T e
75 3. Armerg R
75 4. < foha

Question ID : 54062615953
Status : Not Answered
Chosen Option : --




Q.12 ‘g’ &1 yatgaTdt &:

Ans

X e
2 Fge
X 3T
p R

Question ID : 54062615954
Status : Answered
Chosen Option : 2

Q.13 ‘Srgufeda’ # vgeh Iul &:

Ans

K 1o
K2
VAR
X 4w

Question ID : 54062615946
Status : Answered
Chosen Option : 2

Q.14 ‘TSI T TR AT GHRI Sheled &1’ T@ifeha G0 &1 A2 &:

Ans

725 1. sfisaraes gdam
/X 2. Gseares gdam

o 3. 57 e adm
25 4. = qRvaTaS g

—

_—

T

Question ID : 54062615951
Status : Answered
Chosen Option : 3

Q.15 et o1 Hg g T - Alehifh w1 T &

Ans

< 1. el g

y' 2. ggd IO Jeha Ty
#< 3. g R

X 4 wd AragE

Question ID : 54062615961
Status : Answered
Chosen Option : 2




Q.16 ‘Pz - P 2 g & Tt oref g &1 T+ RS
Ans X 1. gt - AT

W 2 -2

75 3. &eten - Fsffa

KX 4 - g

Question ID : 54062615956
Status : Not Answered
Chosen Option : --

Q.17 2YH 2AE &1 T4 Ko
Ans X 1wl

 2.qf

p < RE

p R

Question ID : 54062615958
Status : Answered
Chosen Option : 2

T

Q.18 Hgqg Tl 7 Ui WRd WR fha=it aR smsrwoT fRa ar?
Ans  of 117

K221

75 3.15

X 4.19

Question ID : 54062615963
Status : Answered
Chosen Option : 1

_ =

Q.19 HaE § sorufa Rarsht wmerer fifaw (g T feeiRar <) Fi fraa s fmar ar
Ans x1qgﬁ:[§ﬁ'qq

o 2. 15 s, Déw

75 3. Sifef e

75 4. Asé Rsiiem

Question ID : 54062615964
Status : Answered
Chosen Option : 3




Q.20 = arftfes atsrai i erafd o= 02
Ans X" 1.1969-72

o 2.1966-69

/X 3.1961-64
/X 4.1958-61

Question ID : 54062615978
Status : Not Answered
Chosen Option : --

Q.21 @RIt & Hfe et fmfor fana aroteier & emaeenTer & gom ur?
Ans X' 1. geerd TR

W 2. = T

75 3. T e

/X 4. < retEs

Question ID : 54062615966
Status : Not Answered
Chosen Option : --

T

Q.22 fE ofiR sidsh T & fordht 1wt d@fum= i g ufemd, wrda S & geasea | Ry

TUdT____ F R gQ Il d & o §)
Ans Xl;ng@\—ﬂ
X 2. e
X 3. FrEge
f . &

Question ID : 54062615972
Status : Not Answered
Chosen Option : --

Q.23 fA=fafEa & @ fora Treg Y e g & g orfdyes Wi &2
Ans X1 mem R

o 2. ofim sg
< 3. TErIE
< 4 fEr

Question ID : 54062615973
Status : Not Answered
Chosen Option : --




Q.24 dFHiE Y@ o it 78 A2
Ans X 1.1921

X 2.1915

o 31914

X 4.1920

Question ID : 54062615969
Status : Not Answered
Chosen Option : --

Q.25 efig widh siarfdia gars orgr, dexTae ot aaraanfie ararard & forg frg adf & @ier mar ar?
Ans X" 12005

/X 2.2007
/< 3.2006
o 42008

Question ID : 54062615968
Status : Not Answered
Chosen Option : --

_

Q.26 1991 # 51 anffer Gum 3R IeRtareor Y geend g3, ad F=fafea & @ s ura & fas w:=ht
472

Ans 1 <t & R
75 2. o Rgawm
/X 3. yore gt
o 4. e Rig

Question ID : 54062615977
Status : Not Answered
Chosen Option : --

Q.27 fA=fafE@a d & #19, agred 8 Bie ST wR et & e areft 31 &t Ada fased uua
o1 fATfoT et @2

Ans X 1. Tl SgieRTES
7< 2. I SrEsiiaEs
W 3. 1S ssiiRse

75 4. Tew SrgsieES

Question ID : 54062615970
Status : Not Answered
Chosen Option : --




Q.28 WRd # 3aRd i3l i 3rafdy aar «fi?

Ans

75 1.1980-82

/X 2.1976-78

o 3.1978-80
/X 4.1991-93

Question ID : 54062615971
Status : Not Answered
Chosen Option : --

Q.29 SR 2020 deh Y SafY & AR, WRA & =k T AgTaEn uiereh &= &7

Ans

F IR R
o 2. ofa wEfif
75 3. My i <t
X 4 e zE

Question ID : 54062615975
Status : Not Answered
Chosen Option : --

T

Q.30 Ik G2A T HEATIR I UT?

Ans

XLWQHEW
f 2 margd g
7< 3. T e e e
X 4. T e e

_ =

Question ID : 54062615965
Status : Answered
Chosen Option : 3

Q.31 upfa & vrea FHTYE, Sit fore foReft Hanes & swdware forg o1 €, o shgera €7

Ans

#< 1. mra e

o 2. o T
75 3. onfifer e
X 4. Rty

Question ID : 54062615967
Status : Answered
Chosen Option : 2




Q.32 o 1968 & WRa & gufa A &7
Ans X 1. Rl dene AR

o 2 it géa

/X 3. e areht orEHE

/X 4. wdues urgwE

Question ID : 54062615974
Status : Answered
Chosen Option : 4

Q.33 HHE A FdT FoTe i UG el 87
Ans x 1. g TR

25 2. R e

75 3. arforsy ok g He

of 4 R

Question ID : 54062615976
Status : Answered
Chosen Option : 4

_ T

Q.34 Ry 1w 9R TEw A # @ & T e v BEeE @i @ o € AR ws e ¥ Rwe dwn
A F T4 FfAw)

Ans X 1.8 68
X2 11,125
V'3 13,172
X429, 85

Question ID : 54062615989
Status : Answered
Chosen Option: 3




P Sl srpfa F o 39 gafase §2

Ans X194
X278
v 91
X4 76

Question ID : 54062615995
Status : Not Answered
Chosen Option : --

—

Q.36 =7 famwew F1 T HTE A Y Uz F 37 TWE F FERT § A U 9T AT UE F weed g

DGJ : KNQ : : ? : MPS

Ans X1 FJK
v 2 FIL
X 3 EJK
X 4 EIL

Question ID : 54062615983
Status : Not Answered
Chosen Option : --

Q.37 20 Fdfw Yoy &7 7Y I TgeT FoReOr Y g & W AT §) fRaw ant % A Yoy amg o A
3T & A e

At o110
X 215
<5
K+ 20

Question ID : 54062615990
Status : Answered
Chosen Option : 3




Q.38 fe e el it st F e @ ofyn) 77 wES g T FuEl F R e 7 L a9 & 9w
AT A 72l & O A vda g gt e feRma v S e s S sla @/ @
ey wue w1 affs 9 ¥ IEToT Far g / B

hE:

. 5 st o7 §
II. wfr o ==F §
sy

. @i SieFet o5 21
Il. F= w%F s B
ll. F= 715 & g
IV. mefr o sigex &

XK Tt e L, 1L, 1 R IV R R
X 2 A THY | HTEOT H g
X 3 e Ty |, 11 3R 11 3T = g
v o e faswd 11 3R 111 e X

Question ID : 54062615988
Status : Not Answered
Chosen Option : --

Q.39 v faf?ga 3T sm #, MOBILE =1 LEIOBM % &7 & foram Ser &1 53 smr & LAPTOP =7 frm
g T Freen?

ans X 1. APLOTP
v 2 OPTAPL
X 3 PLTOAP
# 4 ALPPTO

Question ID : 54062615985
Status : Answered
Chosen Option : 2

Q40 Hfr D, ‘A FT g &, 'C, A F FeT EF, CH T R, B, F AR
‘G, E' @ de g 3R EVB @ 4w § A B, F ¥ Y gefaa £

Ans X‘I. S:H-‘.éf
o o J\TAT
< 3. ETeTST/ATATST
<4 far

Question ID : 54062615987
Status : Answered
Chosen Option : 4




Q41 fo aw =) e F F A g v RPET 90F § 7 § AR v e #) Rus s @ wee A
Ans  of 1 EEATH

X 2

X3 HTIOT

X 4 TEIIGHS

=2

Question ID : 54062615980
Status : Answered
Chosen Option : 3

o fARuE ge W A,

SIP DIP GIP & 3% & ‘Ram and Sita’
DIP TIN TO & 3% & ‘Ram is handsome’
GIP TO PIC &T 3 & ‘Sita is beautiful’

T & ¥ ‘Sita’ F T FiF @1 Traw () 7
Ans X1 DIP

X 2 PIC

v GIP

X4 TO

Question ID : 54062615984
Status : Not Answered
Chosen Option : --

Q.43 ve 9fFg &, 3Fe o W ¥ 20 § Tae 9¥ 7 3N e o AW ¥ 14 § me )R OfE ¥ v

T @ HTH A Sgad £, af A7 9% M7 T 30 § T W 3T S £ 39 g H#R ¥ 9N w7 oE
FiA AT E?

X122 37

X 2 20 ar

V'3 24 ar

K425 FF

Ans

Question ID : 54062615986
Status : Answered
Chosen Option : 3




Q44 TR Tt & @9 F SEY F wEcar 0% F IRt seee 39 3N #7 a fifw

TS, #lY, FAES

<0 O O

V2

Ans

Question ID : 54062615992

Status : Not Answered

Chosen Option : --

=

Q.45 & o1 = padt & @ & sl v R 70 @ guw €k o B b R aml W
= FfET

Ans

—_

F 0

s

Question ID : 54062615994

Status : Answered

Chosen Option: 3




Q.46 3@ faere @ wo= AT S FIT 95 & 3 e §F FEOS § S R 97 TUH 9 § w6 8
o feww o g

Ans xm
X2
X3
v

3T %

Question ID : 54062615982
Status : Not Answered
Chosen Option : --

W e v fawedt # @ wefT amptadl # we e

Ans
@

Question ID : 54062615993
Status : Not Answered
Chosen Option : --




Q48 GrafafRa JTer & wa-FEa (7) F vforia = T HeR-FHg F T3 Hriel

AGM, BFP, CES, DDV, ?
Ans XK 1. EEC

X 2 FFG

v 2 ECY

X 4 FGH

Question ID : 54062615979
Status : Not Answered
Chosen Option : --

Q.49 few 1T IR 3R gL F ¥ A W HE U a0l § A § R o e §) R s
THE & =4 RS

Ans X1 LPSU
X 2 FJMO
X 3 MQTV
v 08VZ

Question ID : 54062615981
Status : Not Answered
Chosen Option : --

Q.50 zg famrew @ wae RS S g GEA @ SET OE @ FeOd § AW SfEdE e YA @E |
TEtT 2

9:82 2391 s 2
ans X1 121
X2 111
V'3 122
< 4110

Question ID : 54062615991
Status : Answered
Chosen Option : 3




